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— 799582 770N ANIPR INXWw oW
A placenta, which was partially expelled, is forbidden to be eaten

OVERVIEW

The X3 asked that the teaching of X"1 (791 X922 RX2W n¥pn PRT) can be derived
from the 71wn which states 79°982 770K 7nxPR 0w XOW. It would seem that the
reason even a X°oW NX¥pn is 727982 MOR, is because 771 X2 XOW n¥pn 1R, Our MooIN
will initially explain the meaning of this 71wn and how we derive from it that X
791 K72 ¥°9w n¥pn. Then mooin will deal with the issue of XpP*o0 Po0; whether when
there is a X7n°777 0"'0 will there be an MoK or not.

- ©%93Y N1 IPAX ANON ‘YW1
The explanation of the term '79°2X2 7710X' is that even that part of the X°>w which
remains within the cow (and was inside the cow when the cow was vnwi, nevertheless it) is

also 79°0KX2 7710K. The reason for this 0K is -
- 19999919 97 191 HY HUNAD NEY NSY NEPN ININD NOYT

That perhaps in that partial X5 that was expelled, the head of the fetus was
also expelled with it, and therefore the fetus is considered as if it was completely

born. Once a 79 is deemed to be born (before the ax7 NV NW) it can no longer become AN
79°3X87 through the oXn nVNWY -

- Y9axn NN b A 19999 XY
For we cannot read into this fetus the p109 of Y9o8n 727732 92 (everything within

the cow may be eaten). It is from this 705 that we derive the ruling that a fetus inside the
womb becomes TMn through the aXn N nw because it is included in this P05 of Y98N 1722 5.
However once the head (or the majority) of the fetus is expelled from the womb it is no longer
7n722 and even the remaining portion that is in the womb is not OX77 nY W1 N1

The X713 maintains (initially) that we derive from this ruling (77°582 770K N¥pn INXW X°5W) that
791 X922 X°PW n¥pn PR, NvoN will explain why this ruling must maintain that 791 X723 X°9W n¥pn PR:
- NP90 POU OyLN PNNY 1Y 7PN 19 XY XYY NYPN U ONT

For if there is a X°%w nxp» without a 791 (there is a distinct possibility that there

' The term w12 is used to negate an alternate (but incorrect) explanation. 77°2X2 710K is not referring (only) to the
expelled X*5w, but rather also to the X*5w that remains in the cow.

2 7RT 7"72 2w states that we are concerned that 7217 "1 211 was expelled in the X5 n¥pn. However mooin
maintains that we are concerned that the 7917 WX was expelled. See w"x"7 awa p'"now.

9,70 (7x7) 2727, The 0o (actually) reads: "T938A 7NX 7733 773 N9YA NI0D MW YOW NYOWI 7079 NoAon mana oY
(note the bolded words).
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is no part of the 721 at all in this 7n¥°w X°5w n¥pn), then we should have permitted

for the remaining X°>¥ to be OX7 NVNW2 TN°1 on account of a XP'oo PoL. It is
possible that no part of the 791 was embedded in this X>%w nxpn» (the 721 was not born at all; then
certainly the remaining R°%W is 712°2X82 nn), and even if there is a portion of the 791 in this nxpn
X°9w, perhaps it was only a minor part of the X°>% (and not the head either), and the 721 is (still)
not considered born, so the remaining unborn &% should be ax7 nv*nwa 701, This concludes the
explanation of the X7na.

mooIn has a difficulty:
= 9TYON 929 Y9YT N XONT NINDT NN

It is astounding! For from this X923 it is evident that X''% would permit -
- NYIANA NPIOD POV M1 ON NNYPN NNYIY NOYVA

To eat a snxpn mnxsw X9 if there would be a XpP % P20 whether there is 79 21 in
the part that was nx>.*
- TPYN 229 YON RiPP90 POV IPANT YUM (3,19 pory NYWPND NNNA 9102

And in the end of 7wpni7 73 P75 it seems that even if it is only a ©''® if there is

a 721 1M in the X°%w, nevertheless R'' prohibits it to be eaten. These two positions are
contradictory.

moon will now explain where this is indicated in 7wpnI 7772 P9:
= 9TYHN 29 9INP NNYPN NNYY NOOYT NIvN 70 by4

For concerning this very same 7w of 77°2X%2 770K mn3pn anxsw RO, X'

states that this rule of 79°9X2 770X ANEPN INYW ROHW -
= 9NN 1997 PYYIN PPN T3 NIYP YaN S99a VP 1PNV NIN 9V ND

Was not taught for all cases, but rather only when the X°5% was not attached to
the fetus,6 however if a nn¥pn 70w XYW was attached to a fetus,7 we are not

concerned that there may be another fetus imbedded in this X°5w.® In the latter case, the
remaining X°9W (and the X>5w2 Mwpn 797) that is in the %72 are ax7 nwnwa 0. This concludes

* If X" would maintain that even by a 0"0 one is forbidden to eat a 7ngpn 7w X*9w, then how can we prove from
the 7awn of 72°282 A7MOR AN¥PR INW ROV, that 791 K72 X°Ow n¥pn 1R?! It is possible that 771 X2 X°Hw n¥pn w° and
nevertheless a In¥pn TN W ROV is 79982 710K because we maintain that even by a 0"0 there is an 729K Mo°X. The
fact that the X3 maintains that from the 73wn of 121 89w we do derive that 791 X721 X°9w n¥pn 1K proves that (X"
maintains that) if it were a 0"0 it would be 77%°2X82 na.

> This refers also to a case where there is no other T at all. However the 3wn can apply even in a case where there
is a 771, but the X% is not 7912 7Wp.

® It is therefore 79382 710K for we assume that the X™>w which is unattached to the T had another 71 in it, which
was M3, and that the 791 that exists had another X°5w which was mn1 (see 2"mn).

7 See later in this Moo for a more precise explanation.

¥ We assume that the X°>w (which is 72 7mwp) belongs to the 79; therefore there is no additional M1 791 in the
XOW.
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the statement of X" there.

M5 continues:
- NN922 NP7 'NPIOD PV NIN M1 RY N9 Y NNIYP PRYY

And when the X5V is not attached to a 771 it is no more than a Xps% poo that
there is a 721 (WX1) 217 in the X2 nN¥P» as it states there in the X0 "2 -

- VN MY PRYAD 19 BN S5 XYY HY Taw nind xav onn anpt
For the xn»=2 teaches there that the reason if it is 7912 77Wp 11°R the woman is
TXNY, is because perhaps the 7o of the X*9w dissolved, etc.; indicating that we
are not certain that there was a 79w together with the X°>w, and if that is so, then
if the X2 is not attached to the 791, the remaining X°>% should be permitted to be

eaten X7 NV NWYA.

= 13279 N¥» XD NNV 9NN 19 OV ¥ 199N 9NN 19 OV 1PN NYY
For perhaps there is no other 79, and even if there is another 7 there,
perhaps the majority was not expelled. The question is since according to the Xn»93,
there is a possibility that (if there is a separate 72, and the X is not 7P to this 79, then) the
X°%w may not contain a 71,'? which renders a X°5w n¥pn a 0"0, so why does X" maintain that by
TWR 1K the remaining X°9W is 79°2K2 710K, since it is a X0 poY, and according to our X3 it
should be 719°282 7 according to 8" if it is a 0"0?!

mooIn replies:
= 4990 NN HY XYW 99950 D10 NNIY DNN MINPT NN 9010 v

And one can say; that the xn>»2 there which states ‘perhaps, etc.” (indicating

that it is a 0"0) is discussing the X*»w which was expelled after the 79, therefore
there is a P if there is a 771 altogether, that is why the Xn»12 states "2 1w -

’ When there is no 7 at all; only a X*>w, then we assume that 721 92 x> 1X. However when there is a 7 (besides
the ®°5w), but the X7V is not 7712 7Wwp, then it seems from that Xn>>92 that there may or may not be an additional 72
in the X°5w as Moo continues to point out. See footnote # 12.

10 The xn*2 there is cited as a proof to X", who maintains that there is a difference whether the X°>w is 7912 7Wwp
or not. The Xn>»1 is discussing a woman who was 2°9» a 191 7nn2 P [which is not Xnwn], together with a X°5w. The
Xn*>72 rules that if the X°5w (was 7212 71wp of the mnna 1», then we are not concerned that there may be a human
fetus in the X°5w [and she is 7797v], but if the X°5w) was 7212 77 Wwp 11°K then we place on the woman the 1 of 1w
M7 (of a 73p1 [with 14 axmv »°] and of a nna 1 [with no 2mv *»°]), for we are concerned that perhaps 75w M
X°7w 5w (for there was a human 791 in the X°%w) and 7w W 15w 3mn (the XHW of the anaa 1n dissolved) (see the
R there).

" A ow is the embryo (fetus) in its early stages (the X5 is the placenta [afterbirth] associated with the 7w [and
later with the 791]).

12 A distinction should be made between the case when there is only a X*>w (where we presume that X n¥pn X
791 ®92) and the case where there was a 721 and the X°?w was 7212 7Wwp °XR. In the latter case, MpoIN assumes in the
Xx>w1p (based on the expression 191 Rnw) that it is only a oo if there is a 771 in the ®°w which is 7912 77Wp 1°K. See
previous footnote # 9.
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= N3 NNIVYP PRYI NN 19 OV WU INTIT 1990 onpy NIHYA 19N TTYIN 229
However X''™ who maintains that the 71wn of 7nxpn YW X5 is in a case of R
7792 7wp is discussing a Xv5w that was expelled before the 791, where there

certainly is a 71 in the X°5w, when the X°5W is not 77 wp to the ™ -
=193 NYDWN NN POIN 19299R NIT (3,99 97 71) NYONNA 199997

As the X3 states in nvo»m7 P19, that we do not say ‘we can associate the X

with the 7 (and assume there is no other 7 in the X*9v) -
= 4990 9NN NNAN NYIYA NN

Only by a x"%2 which follows the 791’; however by a x%w which precedes a 791, then we
can certainly assume that there is an additional 7 in the x>w."?

In summation: X" maintains that by a 0", the X*>% would be permitted to be eaten oX:7 NV w2,
The mwn is discussing a case where the X*2¥ n¥pn emerged before the 791 (which remained in the
womb). Therefore there certainly was a 721 (n¥p») in this X°%w. It is possible that the head was in
the X%w nypn; therefore the remaining X°%¥ in the womb is 7MoOX. (The remaining 79 is
obviously 777382 7nn.)

The Xn>13, however, is discussing a case where the X°%w emerged after the 777; therefore the
Xn>*72 states that X°9w Hw oW M1 xaw. '

mooIn offers an alternate solution:
$PPNYNYA 129INRTI 191 IVN NEPN NI RPIQD POV YHON ONNT 999 VI M

And furthermore one can say; that there" (in the case where the X°>W was 11X
7212 7Wp) where they forbade eating the remaining X°5% even though it is a "',
it is on account of a 77°a that if we will permit to eat when a X°5W n3p» was
expelled, then we may permit when the entire x>w was expelled,'® as the X2 will

shortly state. When x"- stated that if it is 7272 7Wp WX it is 710K (even though it is a 0"0),
that was because in the case of In¥pn INY°W X°OW there is a 77°T.

SUMMARY
Where there is no 791, we assume that 771 892 X°5w n¥pn PX. When there is a 79

" In the normal process of birth, the 721 emerges first followed by the X*>w. Therefore if the 791 precedes the 5w
there is more reason to assume that this is the X7 of the preceding 721. However if the X950 precedes the 793, the
assumption is the there is an additional 771 embedded in the ®5w.

4 There is no 0"0 in the case of the xn>>13, for there, the entire X°9w was expelled. Even though the ®n>12 and X"
are discussing two different case (one where the X% precedes the 721 and the other where it follows it), nevertheless
the &n»12 supports the (general) view of X" that there is a difference whether the ®°% is 7212 7wp or not.

' The x">w may have been discharged after the 71 (where there is a po if there is a 791 in the X*9w); making it a 0",
and nevertheless it is 72°9X2 770K on account of a 77>, See ‘Thinking it over’.

16 See (w7 1"713) *"wA and (77°T3 71"72) MO on the 2 TMY.

4

TosfosInEnglish.com



XOw 17"7 'O R,X° "2 702

(besides the X5w) and the XW is 772 7MWwp, we assume that there is no
(additional) mn°1 791 in the X°%w. If the X5 is 7212 71Wp 1°K and it emerged before
the 791, we assume that 771 X?2 ROW nxpn PR, If it emerged after the 791, then there
is a possibility that there may be a 721 in the X°5w.

THINKING IT OVER
How does mpoin answer that it is 77°T 781 70K;"” when our X3 (seemingly)
refutes the idea of a 711); by stating »"np'!'®

17 See footnote # 15.
¥ See »"9a.
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